km 0+000

W =0.473
N =0.00

p.p. 130.00

RZEDNE PROJEKTOWANE

km 0+028

W =0.405
N =0.00

RZEDNE ISTNIEJACE

132.80

RZEDNE PROJEKTOWANE

ODLEGLOSCI

0.00

+2.50 | 132.81/132.83

+4.00 1132.81|132.86

RZEDNE ISTNIEJACE

132.87
132.84|132.96

km 0+008

W =0.498
N =0.00

ODLEGLOSCI

0.00

+2.50|132.91|132.93

+4.00

RZEDNE PROJEKTOWANE

km 0+036

W =0.437
N=0.00

RZEDNE ISTNIEJACE

132.88

132.88|132.91

RZEDNE PROJEKTOWANE

ODLEGLOSCI

0.00

+2.50 132 86 [132.88

+4.00

RZEDNE ISTNIEJACE

132.98

132.86
132.84 |132.99

ODLEGLOSCI

0.00

+2.50 |132.93/132.95

+4.30

km 0+021

W =0.569
N =0.00

km 0+050

W =0.482
N=0.00

RZEDNE PROJEKTOWANE

RZEDNE PROJEKTOWANE

RZEDNE ISTNIEJACE

132.90

RZEDNE ISTNIEJACE

132.93/133.06

132.97

ODLEGLOSCI

0.00

+2.50 |132.89(132.91

+4.00 132,99 |132.94

ODLEGLOSCI

0.00

+2.50 |133.00(133.02

+4.30
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